



## Approximation by Generalized Positive Linear Kantorovich Operators

Minakshi Dhamija<sup>a</sup>, Naokant Deo<sup>a</sup>

<sup>a</sup>Delhi Technological University, Formerly Delhi College of Engineering,  
Department of Applied Mathematics, Bawana Road, 110042 Delhi, India

**Abstract.** In the present article, we introduce generalized positive linear-Kantorovich operators depending on Pólya-Eggenberger distribution (PED) as well as inverse Pólya-Eggenberger distribution (IPED) and for these operators, we study some approximation properties like local approximation theorem, weighted approximation and estimation of rate of convergence for absolutely continuous functions having derivatives of bounded variation.

### 1. Introduction

Deo et al. [3] introduced the following new type generalization of positive linear operators based on Pólya-Eggenberger distribution (PED) as well as inverse Pólya-Eggenberger distribution (IPED)

$$M_n^{(\alpha)}(f; x) = \sum_k w_{n,k}^{(\alpha)}(x) f\left(\frac{k}{n}\right), \quad x \in I, \quad n = 1, 2, \dots, \quad (1)$$

where

$$w_{n,k}^{(\alpha)}(x) = \frac{n+p}{n+p+(\lambda+1)k} \binom{n+p+(\lambda+1)k}{k} \frac{\Phi_k^\alpha(x) \Phi_{n+p+\lambda k}^\alpha(1+\lambda x)}{\Phi_{n+p+(\lambda+1)k}^\alpha(1+(\lambda+1)x)}$$

and

$$\Phi_k^\alpha(x) = \prod_{i=0}^{k-1} (x + i\alpha),$$

with  $0 \leq \alpha < 1$  (may depend only on natural number  $n$ );  $k, p$  are nonnegative integers. In [16] Razi introduced a Kantorovich form of Stancu operators based on PED and obtained Voronvskaya formula as well as degree of approximation. Deo et al. [5] also established the asymptotic formula and other approximation results for Kantorovich variant of Stancu operators associated to IPED. Work of some other researchers in this direction can be seen in ([1], [4], [10], [11], [13], [14], [17], [18]).

---

2010 *Mathematics Subject Classification.* Primary 41A25; Secondary 41A36

*Keywords.* Generalized Kantorovich operators, Pólya-Eggenberger distribution, Modulus of continuity, Weighted approximation, Bounded variation

Received: 08 February 2016; Accepted: 05 May 2016

Communicated by Hari M. Srivastava

*Email addresses:* minakshidhamija@dtu.ac.in, minakshidhamija11@gmail.com (Minakshi Dhamija), naokantdeo@dce.ac.in, dr\_naokant\_deo@yahoo.com (Naokant Deo)

Now we consider a Kantorovich variant of operators (1) as:

Let  $f$  be a real valued continuous and bounded function on  $[0, \infty)$  and  $\lambda \in \{-1, 0\}$ , we define

$$\begin{aligned}
 V_n^{(\alpha)}(f; x) &= (n + p - \lambda) \sum_k \frac{n + p}{n + p + (\lambda + 1)k} \binom{n + p + (\lambda + 1)k}{k} \\
 &\quad \times \frac{\Phi_k^\alpha(x) \Phi_{n+p+\lambda k}^\alpha(1 + \lambda x)}{\Phi_{n+p+(\lambda+1)k}^\alpha(1 + (\lambda + 1)x)} \int_{\frac{k}{n+p-\lambda}}^{\frac{k+1}{n+p-\lambda}} f(t) dt \\
 &= (n + p - \lambda) \sum_k w_{n,k}^{(\alpha)}(x) \int_{\frac{k}{n+p-\lambda}}^{\frac{k+1}{n+p-\lambda}} f(t) dt, \quad x \in I, \tag{2}
 \end{aligned}$$

where

$$I = \begin{cases} [0, \infty), & \lambda = 0 \\ [0, 1], & \lambda = -1. \end{cases}$$

The special cases of operators (1) have already been discussed in [3]. Likewise, special cases can be obtained for the operators (2). The purpose of this paper is to obtain approximation behaviour for operators (2) which includes local approximation theorem and weighted approximation. We also discuss rate of convergence for absolutely continuous functions having derivatives of bounded variation.

### 2. Basic Results

Let  $\mathbb{N}$  be the set of positive integers and  $\mathbb{N}_0 = \mathbb{N} \cup \{0\}$ . We recall that the monomials  $e_k(x) = x^k$ , for  $k \in \mathbb{N}_0$  also called test functions, play an important role in uniform approximation by linear positive operators. Now we present the computation of the images of test functions by proposed operators (2).

**Lemma 2.1.** [3] *The generalized positive linear operators (1) satisfy*

$$M_n^{(\alpha)}(e_0(t); x) = 1, \quad M_n^{(\alpha)}(e_1(t); x) = \left(\frac{n + p}{n}\right) \frac{x}{(1 - (\lambda + 1)\alpha)},$$

$$\begin{aligned}
 M_n^{(\alpha)}(e_2(t); x) &= \left(\frac{n + p}{n^2}\right) \frac{1}{(1 - \lambda\alpha)(1 - (\lambda + 1)\alpha)} \\
 &\quad \times \left[ \frac{(n + p + \lambda + 1)x(x + \alpha)}{1 - 2(\lambda + 1)\alpha} + x(1 + \lambda x) \right],
 \end{aligned}$$

$$\begin{aligned}
 M_n^{(\alpha)}(e_3(t); x) &= \frac{(n + p)x}{n^3(1 - (\lambda + 1)\alpha)} \left[ \frac{(n + p + 2\lambda + 1)(n + p + 2(2\lambda + 1))(x + \alpha)(x + 2\alpha)}{(1 - (3\lambda + 2)\alpha)(1 - (5\lambda + 3)\alpha)} \right. \\
 &\quad \left. + \frac{3(n + p + 2\lambda + 1)(x + \alpha)}{(1 - (3\lambda + 2)\alpha)} + 1 \right],
 \end{aligned}$$

$$\begin{aligned}
 M_n^{(\alpha)}(e_4(t); x) &= \frac{(n + p)x}{n^4(1 - (\lambda + 1)\alpha)} \\
 &\quad \times \left[ \frac{(n + p + 2\lambda + 1)(n + p + 2(2\lambda + 1))(n + p + 3(2\lambda + 1))(x + \alpha)(x + 2\alpha)(x + 3\alpha)}{(1 - (3\lambda + 2)\alpha)(1 - (5\lambda + 3)\alpha)(1 - (7\lambda + 4)\alpha)} \right. \\
 &\quad + \frac{6(n + p + 2\lambda + 1)(n + p + 2(2\lambda + 1))(x + \alpha)(x + 2\alpha)}{(1 - (3\lambda + 2)\alpha)(1 - (5\lambda + 3)\alpha)} \\
 &\quad \left. + \frac{7(n + p + 2\lambda + 1)(x + \alpha)}{(1 - (3\lambda + 2)\alpha)} + 1 \right].
 \end{aligned}$$

**Lemma 2.2.** For Kantorovitch operators (2) hold

$$V_n^{(\alpha)}(e_0(t); x) = 1, \tag{3}$$

$$V_n^{(\alpha)}(e_1(t); x) = \frac{x}{1 - (\lambda + 1)\alpha} + \frac{1 + 2\lambda x}{2(n + p - \lambda)}, \tag{4}$$

$$V_n^{(\alpha)}(e_2(t); x) = \frac{1}{(n + p - \lambda)^2} \left[ \frac{1}{3} + \frac{(n + p)x}{1 - (\lambda + 1)\alpha} + \frac{(n + p)}{(1 - \lambda\alpha)(1 - (\lambda + 1)\alpha)} \left\{ \frac{(n + p + \lambda + 1)x(x + \alpha)}{1 - 2\alpha(\lambda + 1)} + x(1 + \lambda x) \right\} \right], \tag{5}$$

$$V_n^{(\alpha)}(e_3(t); x) = \frac{1}{(n + p - \lambda)^3} \left[ \frac{1}{4} + \frac{2(n + p)x}{1 - (\lambda + 1)\alpha} + \frac{3(n + p)}{2(1 - (\lambda + 1)\alpha)} \left\{ \frac{(n + p + \lambda + 1)}{(1 - \alpha\lambda)(1 - 2(\lambda + 1)\alpha)} + \frac{2(n + p + 2\lambda + 1)}{(1 - (3\lambda + 2)\alpha)} \right\} x(x + \alpha) + \frac{3(n + p)}{2(1 - \lambda\alpha)(1 - (\lambda + 1)\alpha)} x(1 + \lambda x) + \frac{(n + p)(n + p + 2\lambda + 1)(n + p + 2(2\lambda + 1))}{(1 - (\lambda + 1)\alpha)(1 - (3\lambda + 2)\alpha)(1 - (5\lambda + 3)\alpha)} x(x + \alpha)(x + 2\alpha) \right], \tag{6}$$

and

$$V_n^{(\alpha)}(e_4(t); x) = \frac{1}{(n + p - \lambda)^4} \left[ \frac{1}{5} + \frac{4(n + p)x}{1 - (\lambda + 1)\alpha} + \frac{(n + p)}{(1 - (\lambda + 1)\alpha)} \left\{ \frac{2(n + p + \lambda + 1)}{(1 - \lambda\alpha)(1 - 2(\lambda + 1)\alpha)} + \frac{13(n + p + 2\lambda + 1)}{(1 - (3\lambda + 2)\alpha)} \right\} x(x + \alpha) + \frac{2(n + p)}{(1 - \lambda\alpha)(1 - (\lambda + 1)\alpha)} x(1 + \lambda x) + \frac{8(n + p)(n + p + 2\lambda + 1)(n + p + 2(2\lambda + 1))}{(1 - (\lambda + 1)\alpha)(1 - (3\lambda + 2)\alpha)(1 - (5\lambda + 3)\alpha)} x(x + \alpha)(x + 2\alpha) + \frac{(n + p)(n + p + 2\lambda + 1)(n + p + 2(2\lambda + 1))(n + p + 3(2\lambda + 1))}{(1 - (\lambda + 1)\alpha)(1 - (3\lambda + 2)\alpha)(1 - (5\lambda + 3)\alpha)(1 - (7\lambda + 4)\alpha)} \times x(x + \alpha)(x + 2\alpha)(x + 3\alpha) \right]. \tag{7}$$

*Proof.* From Lemma 2.1 and using the definition of operators  $V_n^{(\alpha)}$ , we obtain the required result.  $\square$

**Lemma 2.3.** The generalized operators given by (2) satisfy

$$V_n^{(\alpha)}(e_1 - x; x) = \frac{1}{2(n + p - \lambda)} + \left[ \frac{\alpha(\lambda + 1)}{1 - (\lambda + 1)\alpha} + \frac{\lambda}{n + p - \lambda} \right] x,$$

$$\begin{aligned}
 &V_n^{(\alpha)}\left((e_1 - x)^2; x\right) \\
 &= \frac{1}{3(n+p-\lambda)^2} + \left[ \frac{n+p}{(n+p-\lambda)^2(1-(\lambda+1)\alpha)} \right. \\
 &\quad \left. - \frac{1}{(n+p-\lambda)} + \frac{(n+p)(n+p+\lambda+1)}{(n+p-\lambda)^2(1-\lambda\alpha)(1-(\lambda+1)\alpha)(1-2(\lambda+1)\alpha)} \right. \\
 &\quad \left. + \frac{(n+p)}{(n+p-\lambda)^2(1-\lambda\alpha)(1-(\lambda+1)\alpha)} \right] x \\
 &\quad + \left[ \frac{(n+p)(n+p+\lambda+1)}{(n+p-\lambda)^2(1-\lambda\alpha)(1-(\lambda+1)\alpha)(1-2(\lambda+1)\alpha)} \right. \\
 &\quad \left. - \frac{\lambda(n+p)}{(n+p-\lambda)^2(1-\lambda\alpha)(1-(\lambda+1)\alpha)} - \frac{1+(\lambda+1)\alpha}{1-(\lambda+1)\alpha} - \frac{2\lambda}{n+p-\lambda} \right] x^2.
 \end{aligned}$$

*Proof.* Using Lemma 2.2, it is easy to obtain above central moments.  $\square$

Now we recall a result from [9], with the help of which we shall obtain a result for higher order central moments.

**Lemma 2.4.** [9] *Let  $V$  be any linear operators then*

$$V\left((e_1 - x)^j; x\right) = V\left(e_j; x\right) - \sum_{i=0}^{j-1} \binom{j}{i} x^{j-i} V\left((e_1 - x)^i; x\right),$$

and in the case when  $V\left(e_j; x\right) = e_j(x)$ , for  $j = 0, 1$ , then we get

$$V\left((e_1 - x)^3; x\right) = V\left(e_3; x\right) - x^3 - 3xV\left((e_1 - x)^2; x\right),$$

and

$$V\left((e_1 - x)^4; x\right) = V\left(e_4; x\right) - x^4 - 4xV\left((e_1 - x)^3; x\right) + 6x^2V\left((e_1 - x)^2; x\right).$$

**Remark 2.5.** For sufficiently large  $n$ , we can write the following inequalities by using Lemma 2.3 and Lemma 2.4:

1.  $V_n^{(\alpha)}\left((e_1 - x)^2; x\right) \leq A \frac{(1+x^2)}{n}$ ,
2.  $V_n^{(\alpha)}\left((e_1 - x)^4; x\right) \leq V_n^{(\alpha)}\left(e_4(x); x\right) \leq B \frac{(1+x^2)^2}{n}$ ,

where  $A$  and  $B$  are some positive constants.

**Lemma 2.6.** *There holds the following inequality for operators (2),*

$$\left|V_n^{(\alpha)}(f; x)\right| \leq \|f\|.$$

*Proof.* From operators (2), we have

$$\begin{aligned}
 \left|V_n^{(\alpha)}(f; x)\right| &= \left| (n+p-\lambda) \sum_{k=0}^{\infty} w_{n,k}^{(\alpha)}(x) \int_{\frac{k}{n+p-\lambda}}^{\frac{k+1}{n+p-\lambda}} f(t) - f(x) dt \right| \\
 &\leq (n+p-\lambda) \sum_{k=0}^{\infty} w_{n,k}^{(\alpha)}(x) \int_{\frac{k}{n+p-\lambda}}^{\frac{k+1}{n+p-\lambda}} |f(t) - f(x)| dt \\
 &\leq (n+p-\lambda) \sum_{k=0}^{\infty} w_{n,k}^{(\alpha)}(x) \int_{\frac{k}{n+p-\lambda}}^{\frac{k+1}{n+p-\lambda}} \sup |f(t) - f(x)| dt \\
 &\leq \|f\|.
 \end{aligned}$$

$\square$

### 3. Direct Results

#### 3.1. Local Approximation

Let  $C_B(I)$  be the space of all the real valued continuous and bounded functions  $f$  on the interval  $I$ , endowed with the norm

$$\|f\| = \sup_{x \in I} |f(x)|.$$

For the function  $f \in C_B(I)$ , let us consider following Peetre’s  $K$ -functional:

$$K_2(f; \delta) := \inf_{g \in C_B^2(I)} \{ \|f - g\| + \delta \|g''\| \}, \delta > 0,$$

where  $C_B^2(I) = \{g \in C_B(I) : g', g'' \in C_B(I)\}$ . By DeVore and Lorentz( [6], p.177. Theorem 2.4) there exists an absolute constant  $C > 0$  such that

$$K_2(f; \delta) \leq C \omega_2(f; \sqrt{\delta}), \tag{8}$$

where  $\omega_2(f; \sqrt{\delta})$  is second order modulus of continuity defined by

$$\omega_2(f; \sqrt{\delta}) = \sup_{0 < h < \sqrt{\delta}} \sup_{x \in I} |f(x + 2h) - 2f(x + h) + f(x)|.$$

The usual modulus of smoothness(or simply modulus of continuity) for  $f \in C_B(I)$  is given by

$$\omega(f; \delta) = \sup_{0 < h \leq \delta} \sup_{x \in I} |f(x + h) - f(x)|.$$

**Theorem 3.1.** *Let  $f \in C_B(I)$  then for all  $x \in I$ , we have the following inequality:*

$$|V_n^{(\alpha)}(f; x) - f(x)| \leq C \omega_2 \left( f, \frac{\sqrt{\phi_{n,\lambda}^{(\alpha)}(x)}}{2} \right) + \omega \left( f, \frac{(\lambda + 1)x\alpha}{(1 - (\lambda + 1)\alpha)} + \frac{1 + 2\lambda x}{2(n + p - \lambda)} \right),$$

where  $C$  is a positive constant and

$$\phi_{n,\lambda}^{(\alpha)}(x) = V_n^{(\alpha)}((t - x)^2; x) + \left\{ \frac{(\lambda + 1)x\alpha}{(1 - (\lambda + 1)\alpha)} + \frac{1 + 2\lambda x}{2(n + p - \lambda)} \right\}^2.$$

*Proof.* Let us define the auxiliary operators:

$$\hat{V}_n^{(\alpha)}(f; x) = V_n^{(\alpha)}(f; x) + f(x) - f \left( \frac{x}{1 - (\lambda + 1)\alpha} + \frac{1 + 2\lambda x}{2(n + p - \lambda)} \right). \tag{9}$$

For these auxiliary operators and for all  $x \in I$  we may observe that  $\hat{V}_n^{(\alpha)}(f; x)$  are linear such that

$$\hat{V}_n^{(\alpha)}(1; x) = 1 \text{ and } \hat{V}_n^{(\alpha)}(t; x) = x,$$

i. e., preserve linear functions. Therefore

$$\hat{V}_n^{(\alpha)}(t - x; x) = 0. \tag{10}$$

Consider  $g \in C_B^2(I)$  and for  $t, x \in I$ , Taylor’s theorem implies

$$g(t) = g(x) + (t - x)g'(x) + \int_x^t (t - u)g''(u)du.$$

Using linearity of operators  $\hat{V}_n^{(\alpha)}$  and taking into account (9) and (10), we obtain

$$\begin{aligned} & \hat{V}_n^{(\alpha)}(g; x) - g(x) \\ &= g'(x) \hat{V}_n^{(\alpha)}((t-x); x) + \hat{V}_n^{(\alpha)}\left(\int_x^t (t-u)g''(u)du; x\right) \\ &= \hat{V}_n^{(\alpha)}\left(\int_x^t (t-u)g''(u)du; x\right) \\ &= V_n^{(\alpha)}\left(\int_x^t (t-u)g''(u)du; x\right) \\ &\quad - \int_x^{1-\frac{x}{(\lambda+1)\alpha} + \frac{1+2\lambda x}{2(n+p-\lambda)}} \left(\frac{x}{1-(\lambda+1)\alpha} + \frac{1+2\lambda x}{2(n+p-\lambda)} - u\right) g''(u)du. \end{aligned}$$

Thus

$$\begin{aligned} & |\hat{V}_n^{(\alpha)}(g; x) - g(x)| \\ &\leq V_n^{(\alpha)}\left(\left|\int_x^t (t-u)g''(u)du\right|; x\right) \\ &\quad + \left|\int_x^{1-\frac{x}{(\lambda+1)\alpha} + \frac{1+2\lambda x}{2(n+p-\lambda)}} \left(\frac{x}{1-(\lambda+1)\alpha} + \frac{1+2\lambda x}{2(n+p-\lambda)} - u\right) g''(u)du\right|. \end{aligned} \tag{11}$$

Since  $\left|\int_x^t (t-u)g''(u)du\right| \leq (t-x)^2 \|g''\|$ , therefore (11) gives

$$\begin{aligned} & |\hat{V}_n^{(\alpha)}(g; x) - g(x)| \\ &\leq \left[V_n^{(\alpha)}((t-x)^2; x) + \left(\frac{x}{1-(\lambda+1)\alpha} + \frac{1+2\lambda x}{2(n+p-\lambda)} - x\right)^2\right] \|g''\| \\ &\leq \left[V_n^{(\alpha)}((t-x)^2; x) + \left\{\frac{(\lambda+1)x\alpha}{(1-(\lambda+1)\alpha)} + \frac{1+2\lambda x}{2(n+p-\lambda)}\right\}^2\right] \|g''\| \\ &= \phi_{n,\lambda}^{(\alpha)}(x) \|g''\|. \end{aligned} \tag{12}$$

Again using definition of auxiliary operators and from Lemma 2.6, we get

$$\begin{aligned} & |V_n^{(\alpha)}(f; x) - f(x)| \\ &\leq |\hat{V}_n^{(\alpha)}((f-g); x)| + |g(x) - f(x)| + |\hat{V}_n^{(\alpha)}(g; x) - g(x)| \\ &\quad + \left|f\left(\frac{x}{1-(\lambda+1)\alpha} + \frac{1+2\lambda x}{2(n+p-\lambda)}\right) - f(x)\right| \\ &\leq 4\|f-g\| + \phi_{n,\lambda}^{(\alpha)}(x) \|g''\| + \omega\left(f, \frac{(\lambda+1)x\alpha}{(1-(\lambda+1)\alpha)} + \frac{1+2\lambda x}{2(n+p-\lambda)}\right). \end{aligned}$$

Taking infimum on both the sides over  $g \in C_B^2(I)$ ,

$$|V_n^{(\alpha)}(f; x) - f(x)| \leq 4K_2 \left(f; \frac{\phi_{n,\lambda}^{(\alpha)}(x)}{4}\right) + \omega\left(f, \frac{(\lambda+1)x\alpha}{(1-(\lambda+1)\alpha)} + \frac{1+2\lambda x}{2(n+p-\lambda)}\right).$$

Hence by (8), we get

$$|V_n^{(\alpha)}(f; x) - f(x)| \leq C\omega_2 \left(f; \frac{\sqrt{\phi_{n,\lambda}^{(\alpha)}(x)}}{2}\right) + \omega\left(f, \frac{(\lambda+1)x\alpha}{(1-(\lambda+1)\alpha)} + \frac{1+2\lambda x}{2(n+p-\lambda)}\right).$$

This completes the proof.  $\square$

Now consider the following Lipschitz type space [15], a two parameter family:  
For fixed  $\beta, \gamma > 0$ , we have

$$Lip_M^{\beta, \gamma}(r) := \left\{ f \in C_B(I) : |f(t) - f(x)| \leq M \frac{|t - x|^r}{(t + \beta x^2 + \gamma x)^{r/2}}; x, t \in (0, \infty) \right\},$$

where  $M$  is any positive constant and  $r \in (0, 1]$ .

**Theorem 3.2.** Let  $f \in Lip_M^{\beta, \gamma}(r)$  and  $r \in (0, 1]$  then for all  $x \in (0, \infty)$ , the following inequality holds:

$$|V_n^{(\alpha)}(f; x) - f(x)| \leq M \left( \frac{\eta_n^{(\alpha)}(x)}{\beta x^2 + \gamma x} \right)^{r/2},$$

where

$$\eta_n^{(\alpha)}(x) = V_n^{(\alpha)}((t - x)^2; x).$$

*Proof.* First we prove the result for  $r = 1$ . Then for  $f \in Lip_M^{\beta, \gamma}(r)$  and for  $x \in (0, \infty)$ , we have

$$\begin{aligned} |V_n^{(\alpha)}(f; x) - f(x)| &\leq V_n^{(\alpha)}(|f(t) - f(x)|; x) \\ &\leq M V_n^{(\alpha)}\left(\frac{|t - x|}{(t + \beta x^2 + \gamma x)^{1/2}}; x\right). \end{aligned}$$

Applying Cauchy-Schwarz inequality for sum and  $\frac{1}{(t + \beta x^2 + \gamma x)^{1/2}} \leq \frac{1}{(\beta x^2 + \gamma x)^{1/2}}$ , we obtain

$$\begin{aligned} |V_n^{(\alpha)}(f; x) - f(x)| &\leq \frac{M}{(\beta x^2 + \gamma x)^{1/2}} [V_n^{(\alpha)}((t - x)^2; x)]^{1/2} \\ &= M \left\{ \frac{\eta_n^{(\alpha)}(x)}{\beta x^2 + \gamma x} \right\}^{1/2}. \end{aligned}$$

Therefore result holds for  $r = 1$ .

Further we prove the result for  $0 < r < 1$ . Again for  $f \in Lip_M^{\beta, \gamma}(r)$ , using the same argument as in case for  $r = 1$  and applying Holder's inequality with  $p = 2/r, q = 2/2 - r$ , we finally get

$$\begin{aligned} |V_n^{(\alpha)}(f; x) - f(x)| &\leq \frac{M}{(\beta x^2 + \gamma x)^{r/2}} [V_n^{(\alpha)}((t - x)^2; x)]^{r/2} \\ &= M \left\{ \frac{\eta_n^{(\alpha)}(x)}{\beta x^2 + \gamma x} \right\}^{r/2}. \end{aligned}$$

Hence the result.  $\square$

Let  $\varphi(x) = 1 + x^2$  be a weight function and consider

$$B_\varphi(I) := \{f : |f(x)| \leq M_f \varphi(x)\},$$

endowed with the norm

$$\|f\|_\varphi = \sup_{x \in I} \frac{|f(x)|}{\varphi(x)},$$

Also let

$$C_\varphi(I) := \{f : f \in B_\varphi(I) \text{ and } f \text{ is continuous}\},$$

and

$$C_\varphi^*(I) := \left\{ f \in C_\varphi(I) : \lim_{x \rightarrow \infty} \frac{|f(x)|}{\varphi(x)} < \infty \right\}.$$

The usual modulus of continuity of  $f$  on  $[0, b]$  is defined as:

$$\omega_b(f, \delta) = \sup_{|t-x| \leq \delta} \sup_{x, t \in [0, b]} |f(t) - f(x)|.$$

**Theorem 3.3.** Let  $f \in C_\varphi(I)$  then for operators  $V_n^{(\alpha)}(f; x)$  we have

$$\|V_n^{(\alpha)}(f; x) - f(x)\|_{C[0, b]} \leq 4M_f(1 + b^2)\eta_n^{(\alpha)}(b) + 2\omega_{b+1}\left(f, \sqrt{\eta_n^{(\alpha)}(b)}\right), \tag{13}$$

where  $\eta_n^{(\alpha)}(x) = L_n^{(\alpha)}((t - x)^2; x)$ .

*Proof.* Let  $x \in [0, b]$ ,  $t \in (b + 1, \infty)$ , and  $t - x > 1$  we have

$$\begin{aligned} |f(t) - f(x)| &\leq M_f \varphi(t - x) = M_f \{1 + (t - x)^2\} = M_f(1 + t^2 + x^2 - 2xt) \\ &\leq M_f(2 + t^2 + x^2) = M_f\{2 + 2x^2 + (t - x)^2 + 2x(t - x)\} \\ &\leq M_f(t - x)^2 \{3 + 2x + 2x^2\} \leq 4M_f(t - x)^2(1 + x^2) \\ &\leq 4M_f(t - x)^2(1 + b^2). \end{aligned} \tag{14}$$

If  $x \in [0, b]$  and  $t \in [0, b + 1]$  then we have

$$|f(t) - f(x)| \leq \omega_{b+1}(|t - x|) \leq \left(1 + \frac{|t - x|}{\delta}\right) \omega_{b+1}(f, \delta), \delta > 0. \tag{15}$$

Combining (14) and (15), we obtain

$$|f(t) - f(x)| \leq 4M_f(1 + b^2)(t - x)^2 + \left(1 + \frac{|t - x|}{\delta}\right) \omega_{b+1}(f, \delta).$$

Taking Cauchy Schwartz inequality we get

$$\begin{aligned} |V_n^{(\alpha)}(t) - f(x)| &\leq 4M_f(1 + b^2)V_n^{(\alpha)}((t - x)^2; x) \\ &\quad + \left(1 + \frac{1}{\delta}V_n^{(\alpha)}(|t - x|; x)\right) \omega_{b+1}(f, \delta) \\ &\leq 4M_f(1 + b^2)V_n^{(\alpha)}((t - x)^2; x) \\ &\quad + \left[1 + \frac{1}{\delta}\{V_n^{(\alpha)}((t - x)^2; x)\}^{1/2}\right] \omega_{b+1}(f, \delta) \\ &\leq 4M_f(1 + b^2)\eta_n^{(\alpha)}(b) + 2\omega\left(f, \sqrt{\eta_n^{(\alpha)}(b)}\right). \end{aligned}$$

□



3.2. Weighted Approximation

**Theorem 3.4.** Let  $f \in C_\varphi^*(I)$  then, we have

$$\lim_{n \rightarrow \infty} \|V_n^{(\alpha)}(f; x) - f(x)\|_\varphi = 0. \tag{16}$$

*Proof.* To prove equation (16), it is sufficient to verify the following three conditions (as in papers [7, 8]):

$$\lim_{n \rightarrow \infty} \|V_n^{(\alpha)}(t^i; x) - t^i\|_\varphi = 0, \quad i = 0, 1, 2. \tag{17}$$

It is very clear that equation (17) is true for  $i = 0$  as  $V_n^{(\alpha)}(1; x) = 1$ . Now using Lemma 2.2 we have

$$\begin{aligned} \|V_n^{(\alpha)}(t; x) - x\|_\varphi &= \sup_{x \in I} \frac{1}{1+x^2} \left| \frac{x}{1-(\lambda+1)\alpha} + \frac{1+2\lambda x}{2(n+p-\lambda)} - x \right| \\ &= \sup_{x \in I} \frac{1}{1+x^2} \left| \frac{1}{2(n+p-\lambda)} + x \left( \frac{1}{1-(\lambda+1)\alpha} + \frac{\lambda}{n+p-\lambda} - 1 \right) \right| \\ &\leq \frac{1}{2(n+p-\lambda)} + \left| \frac{1}{1-(\lambda+1)\alpha} + \frac{\lambda}{n+p-\lambda} - 1 \right| \end{aligned}$$

which implies that  $\lim_{n \rightarrow \infty} \|V_n^{(\alpha)}(t; x) - x\|_\varphi = 0$ . Similarly we have

$$\begin{aligned} \|V_n^{(\alpha)}(t^2; x) - x^2\|_\varphi &= \sup_{x \in I} \frac{1}{(n+p-\lambda)^2} \left| \frac{1}{3} + \frac{(n+p)x}{1-(\lambda+1)\alpha} + \frac{(n+p)}{(1-\lambda\alpha)(1-(\lambda+1)\alpha)} \right. \\ &\quad \times \left. \left\{ \frac{(n+p+\lambda+1)x(x+\alpha)}{1-2(\lambda+1)\alpha} + x(1+\lambda x) \right\} - x^2 \right| \frac{1}{(1+x^2)} \\ &\leq \frac{1}{3(n+p-\lambda)^2} + \frac{(n+p)}{(n+p-\lambda)^2(1-(\lambda+1)\alpha)} \\ &\quad + \left| \frac{(n+p)(n+p+\lambda+1)}{(1-\lambda\alpha)(1-(\lambda+1)\alpha)(1-2(\lambda+1)\alpha)(n+p-\lambda)^2} \right| \\ &\quad + \frac{(n+p)(n+p+\lambda+1)\alpha}{(1-\lambda\alpha)(1-(\lambda+1)\alpha)(n+p-\lambda)^2} \frac{1}{|1-2(\lambda+1)\alpha|} \\ &\quad + \frac{(n+p)(1+\lambda)}{(n+p-\lambda)^2(1-\lambda\alpha)(1-(\lambda+1)\alpha)} \end{aligned}$$

Hence  $\lim_{n \rightarrow \infty} \|V_n^{(\alpha)}(t^2; x) - x^2\|_\varphi = 0$ .

The proof is complete.  $\square$

Yüksel and Ispir in [19] gave the rate of convergence by using weighted modulus of continuity. Inspired by them, we are also finding the rate of convergence for our operators (2).

For each  $f \in C_\varphi^*(I)$ , the weighted modulus of continuity is given by:

$$\Omega(f; \delta) = \sup_{x \in I, 0 < h \leq \delta} \frac{|f(x+h) - f(x)|}{1+(x+h)^2}.$$

Following lemma gives the properties of the weighted modulus of continuity:

**Lemma 3.5.** [19] Let  $f \in C_\varphi^*(I)$  then we have

- (i)  $\Omega(f; \delta)$  is a monotone increasing function of  $\delta$ ;
- (ii)  $\lim_{\delta \rightarrow 0^+} \Omega(f; \delta) = 0$ ;
- (iii) for each  $m \in N$ ,  $\Omega(f; m\delta) = m\Omega(f; \delta)$ ;
- (iv) for each  $\mu \in I$ ,  $\Omega(f; \mu\delta) = (1 + \mu)\Omega(f; \delta)$ .

**Theorem 3.6.** Let  $f \in C_\varphi^*(I)$  the operators  $V_n^{(\alpha)}(f; x)$  satisfy

$$\sup_{x \in I} \frac{|V_n^{(\alpha)}(f; x) - f(x)|}{(1 + x^2)^{5/2}} \leq K\Omega(f; \delta_n),$$

where  $K$  is positive constant and  $\delta_n = \frac{1}{\sqrt{n}}$

*Proof.* Let  $x, t \in [0, \infty)$ ,  $\delta > 0$  then by definition of  $\Omega(f; \delta)$  and property given by Lemma 3.5, we have

$$\begin{aligned} |f(t) - f(x)| &\leq (1 + (x + |t - x|)^2)\Omega(f; |t - x|) \\ &\leq (1 + (x + |t - x|)^2)\left(1 + \frac{|t - x|}{\delta}\right)\Omega(f; \delta) \\ &\leq 2(1 + x^2)(1 + (t - x)^2)\left(1 + \frac{|t - x|}{\delta}\right)\Omega(f; \delta). \end{aligned}$$

Since  $V_n^{(\alpha)}(f; x)$  are positive linear operators, therefore

$$\begin{aligned} &|V_n^{(\alpha)}(f; x) - f(x)| \\ &\leq (n + p - \lambda) \sum_{k=0}^{\infty} w_{n,k}^{(\alpha)}(x) \int_{\frac{k}{n+p-\lambda}}^{\frac{k+1}{n+p-\lambda}} |f(t) - f(x)| dt \\ &\leq 2\Omega(f; \delta)(1 + x^2)(n + p - \lambda) \sum_{k=0}^{\infty} w_{n,k}^{(\alpha)}(x) \int_{\frac{k}{n+p-\lambda}}^{\frac{k+1}{n+p-\lambda}} \left\{1 + (t - x)^2\right\} \left(1 + \frac{|t - x|}{\delta}\right) dt \\ &\leq 2\Omega(f; \delta)(1 + x^2) \left[1 + V_n^{(\alpha)}((t - x)^2; x)\right. \\ &\quad \left.+ V_n^{(\alpha)}\left(\left(1 + (t - x)^2\right) \frac{|t - x|}{\delta}; x\right)\right]. \end{aligned} \tag{18}$$

Using Cauchy Schwarz inequality and Remark 2.5, we obtain

$$\begin{aligned} |V_n^{(\alpha)}(f; x) - f(x)| &\leq 2\Omega(f; \delta)(1 + x^2) \left[1 + V_n^{(\alpha)}((t - x)^2; x)\right. \\ &\quad \left.+ \frac{1}{\delta} \left\{\left(V_n^{(\alpha)}((t - x)^2; x)\right)^{1/2} + \left(V_n^{(\alpha)}((t - x)^2; x)\right)^{1/2} \left(V_n^{(\alpha)}((t - x)^2; x)\right)^{1/4}\right\}\right] \\ &\leq K(1 + x^2)^{5/2} \Omega(f; \delta_n), \end{aligned}$$

where  $\delta_n = \frac{1}{\sqrt{n}}$  and  $K = 2(1 + A + \sqrt{A} + \sqrt{AB})$ . Hence the result.  $\square$

### 3.3. Rate of convergence

Consider the class  $DBV_\gamma I$ ,  $\gamma \geq 0$  of functions  $f$  defined on  $I$  such that each function  $f$  of this class has a derivative of bounded variation on every finite subinterval of  $I$  and  $|f(t)| \leq M_f t^\gamma, \forall t > 0$ .

It can be noticed that for  $f \in DBV_\gamma I$ , we can write

$$f(x) = \int_0^x g(t) dt + f(0),$$

where  $g(t)$  is a function of bounded variation on each finite subinterval of  $I$ .

Now, in this section we shall estimate the rate of convergence for generalized positive linear Kantorovich operators  $V_n^{(\alpha)}$  for functions belonging to the class  $DBV_\gamma I$ . Several researchers have studied rate of convergence for different operators like ([2], [12], [20]).

Before studying the approximation of functions having a derivative of bounded variation, we need following results:

First, we write the operators  $V_n^{(\alpha)}$  given by (2) in alternate form as:

$$V_n^{(\alpha)}(f; x) = \int_0^\infty K_n^{(\alpha)}(x, t) f(t) dt, \tag{19}$$

where

$$K_n^{(\alpha)}(x, t) = (n + p - \lambda) \sum_{k=0}^\infty w_{n,k}^{(\alpha)}(x) \chi_{n,k}(t)$$

and  $\chi_{n,k}(t)$  is the characteristic function of the interval  $\left[\frac{k}{n+p-\lambda}, \frac{k+1}{n+p-\lambda}\right]$  w.r.t  $I$ .

Also put  $\beta_n(x, y) = \int_0^y K_n^{(\alpha)}(x, t) dt$ ;  $y \geq 0$ .

**Remark 3.7.** For sufficiently large  $n$ , there exists positive constants  $K_1$  and  $K_2$  such that

- (i)  $V_n^{(\alpha)}((e_1 - x)^2; x) \leq \frac{K_1(1+x)^2}{n+p-\lambda}$ ,
- (ii)  $V_n^{(\alpha)}((e_1 - x); x) \leq \frac{K_2(1+x)}{n+p-\lambda}$ ,
- (iii) By Cauchy Schwarz inequality,

$$V_n^{(\alpha)}(|e_1 - x|; x) \leq \left[ V_n^{(\alpha)}((e_1 - x)^2; x) \right]^{1/2} \leq \sqrt{\frac{K_1}{n+p-\lambda}} (1+x).$$

**Lemma 3.8.** For  $x \in (0, \infty)$  and sufficiently large  $n$ , we have

- (i) Since  $0 \leq y < x$ , therefore

$$\beta_n(x, y) = \int_0^y K_n^{(\alpha)}(x, t) dt \leq \frac{K_1(1+x)^2}{(n+p-\lambda)(x-y)^2},$$

- (ii) If  $x < z < \infty$  then we get

$$1 - \beta_n(x, z) = \int_z^\infty K_n^{(\alpha)}(x, t) dt \leq \frac{K_1(1+x)^2}{(n+p-\lambda)(z-x)^2}.$$

**Theorem 3.9.** Let  $f \in DBV_\gamma(0, \infty)$ ,  $\gamma > 0$  then for all  $x \in (0, \infty)$  and sufficiently large  $n$ , we have

$$\begin{aligned}
 & |V_n^{(a)}(f; x) - f(x)| \\
 & \leq \frac{K_2(1+x)}{(n+p-\lambda)} \left| \frac{f'(x+) + f'(x-)}{2} \right| \\
 & \quad + \sqrt{\frac{K_1}{n+p-\lambda}} (1+x) \left| \frac{f'(x+) - f'(x-)}{2} \right| + \sqrt{\frac{K_1}{n+p-\lambda}} (1+x) f'(x+) \\
 & \quad + M(r, \gamma, x) + \frac{|f(x)|}{n+p-\lambda} K_1(1+x)^2 \\
 & \quad + \frac{K_1}{(n+p-\lambda)} \left( \frac{1+x}{x} \right)^2 |f(2x) - f(x) - xf'(x+)| \\
 & \quad + \frac{x}{\sqrt{n}} \vee_{x-\frac{x}{\sqrt{n}}}^{x+\frac{x}{\sqrt{n}}} f'_x + \frac{K_1(1+x)^2}{x(n+p-\lambda)} \sum_{k=1}^{[\sqrt{n}]} \vee_{x-\frac{x}{k}}^{x+\frac{x}{k}} f'_x, \tag{20}
 \end{aligned}$$

where  $f_x$  is an auxiliary operator defined by

$$f_x(t) = \begin{cases} f(t) - f(x-), & 0 \leq t < x \\ 0, & t = x \\ f(t) - f(x+), & x < t < \infty \end{cases}$$

and moreover  $\vee_a^b f(x)$  denotes the total variation of  $f$  on  $[a, b]$ .

*Proof.* Since  $V_n^{(a)}(1; x) = 1$ , for all  $x \in (0, \infty)$ , we obtain

$$\begin{aligned}
 V_n^{(a)}(f; x) - f(x) &= \int_0^\infty (f(t) - f(x)) K_n^{(a)}(x, t) dt \\
 &= \int_0^\infty K_n^{(a)}(x, t) \int_x^t f'(u) du dt. \tag{21}
 \end{aligned}$$

For  $f \in DBV_\gamma(0, \infty)$ , we can write

$$\begin{aligned}
 f'(u) &= \frac{1}{2} (f'(x+) + f'(x-)) + f'_x(u) + \frac{1}{2} (f'(x+) - f'(x-)) \operatorname{sgn}(u - x) \\
 &\quad + \delta_x(u) \left( f'(u) - \frac{1}{2} (f'(x+) + f'(x-)) \right), \tag{22}
 \end{aligned}$$

where

$$\delta_x(u) = \begin{cases} 1, & u = x \\ 0, & u \neq x. \end{cases}$$

It is obvious that

$$\int_0^\infty \left( \int_x^t \left( f'(u) - \frac{1}{2} (f'(x+) + f'(x-)) \right) \delta_x(u) du \right) K_n^{(a)}(x, t) dt = 0. \tag{23}$$

Using (19), we get

$$\begin{aligned}
 & \int_0^\infty \left( \int_x^t \frac{1}{2} (f'(x+) + f'(x-)) du \right) K_n^{(a)}(x, t) dt \\
 &= \frac{1}{2} (f'(x+) + f'(x-)) V_n^{(a)}((t-x); x). \tag{24}
 \end{aligned}$$

Also

$$\begin{aligned}
 & \int_0^\infty \left( \int_x^t \frac{1}{2} (f'(x+) - f'(x-)) \operatorname{sgn}(u-x) du \right) K_n^{(\alpha)}(x, t) dt \\
 &= \int_0^\infty \frac{1}{2} (f'(x+) - f'(x-)) (t-x) K_n^{(\alpha)}(x, t) dt \\
 &\leq \frac{1}{2} |f'(x+) - f'(x-)| \int_0^\infty |t-x| K_n^{(\alpha)}(x, t) dt \\
 &= \frac{1}{2} |f'(x+) - f'(x-)| V_n^{(\alpha)}(|t-x|; x).
 \end{aligned} \tag{25}$$

Taking into consideration Lemma 3.8 as well as equations (21), (23), (24), and (25), we have

$$\begin{aligned}
 & V_n^{(\alpha)}(f; x) - f(x) \\
 &\leq \frac{1}{2} (f'(x+) + f'(x-)) V_n^{(\alpha)}((t-x); x) + \frac{1}{2} |f'(x+) - f'(x-)| V_n^{(\alpha)}(|t-x|; x) \\
 &\quad + \int_0^\infty \left( \int_x^t f'_x(u) du \right) K_n^{(\alpha)}(x, t) dt \\
 &\leq \frac{1}{2} (f'(x+) + f'(x-)) \frac{K_2(1+x)}{(n+p-\lambda)} + \frac{1}{2} |f'(x+) - f'(x-)| \sqrt{\frac{K_1}{n+p-\lambda}} (1+x) \\
 &\quad + \int_0^\infty \left( \int_x^t f'_x(u) du \right) K_n^{(\alpha)}(x, t) dt.
 \end{aligned}$$

Therefore,

$$\begin{aligned}
 & |V_n^{(\alpha)}(f; x) - f(x)| \\
 &\leq \frac{K_2}{2} |(f'(x+) + f'(x-))| \frac{(1+x)}{(n+p-\lambda)} \\
 &\quad + \frac{1}{2} |f'(x+) - f'(x-)| \sqrt{\frac{K}{n+p-\lambda}} (1+x) + J_{1,n,x} + J_{2,n,x},
 \end{aligned} \tag{26}$$

where

$$J_{1,n,x} = \left| \int_0^x \left( \int_x^t f'_x(u) du \right) K_n^{(\alpha)}(x, t) dt \right|$$

and

$$J_{2,n,x} = \int_x^\infty \left( \int_x^t f'_x(u) du \right) K_n^{(\alpha)}(x, t) dt.$$

Applying Lemma 3.8, integration by parts and take  $y = x - \frac{x}{\sqrt{n}}$ , we obtain

$$\begin{aligned}
 J_{1,n,x} &= \left| \int_0^x \left( \int_x^t f'_x(u) du \right) d_t \beta_n(x, t) \right| = \left| \int_0^x \beta_n(x, t) f'_x(t) dt \right| \\
 &\leq \int_0^y |\beta_n(x, t)| |f'_x(t)| dt + \int_y^x |\beta_n(x, t)| |f'_x(t)| dt
 \end{aligned}$$

Since  $f'_x(x) = 0$  and  $\beta_n(x, t) \leq 1$ , it implies

$$\begin{aligned} \int_{x-\frac{x}{\sqrt{n}}}^x |f'_x(t)| \beta_n(x, t) dt &= \int_{x-\frac{x}{\sqrt{n}}}^x |f'_x(t) - f'_x(x)| \beta_n(x, t) dt \\ &\leq \int_{x-\frac{x}{\sqrt{n}}}^x \nabla_t^x (f'_x) dt \leq \frac{x}{\sqrt{n}} \nabla_{x-\frac{x}{\sqrt{n}}}^x (f'_x). \end{aligned}$$

Again applying Lemma 3.8 and put  $t = x - \frac{x}{u}$ ,

$$\begin{aligned} &\int_0^{x-\frac{x}{\sqrt{n}}} |f'_x(t)| \beta_n(x, t) dt \\ &\leq \frac{K_1(1+x)^2}{(n+p-\lambda)} \int_0^{x-\frac{x}{\sqrt{n}}} \frac{|f'_x(t)|}{(x-t)^2} dt \\ &\leq \int_0^{x-\frac{x}{\sqrt{n}}} |f'_x(t)| \beta_n(x, t) dt \leq \frac{K_1(1+x)^2}{(n+p-\lambda)} \int_0^{x-\frac{x}{\sqrt{n}}} \frac{\nabla_t^x (f'_x)}{(x-t)^2} dt \\ &\leq \frac{K_1(1+x)^2}{x(n+p-\lambda)} \int_1^{\sqrt{n}} \nabla_{x-\frac{x}{u}}^x (f'_x) du \\ &\leq \frac{K_1(1+x)^2}{x(n+p-\lambda)} \sum_{k=1}^{[\sqrt{n}]} \nabla_{x-\frac{x}{k}}^x (f'_x). \end{aligned}$$

Thus,

$$J_{1,n,x} \leq \frac{x}{\sqrt{n}} \nabla_{x-\frac{x}{\sqrt{n}}}^x (f'_x) + \frac{K_1(1+x)^2}{x(n+p-\lambda)} \sum_{k=1}^{[\sqrt{n}]} \nabla_{x-\frac{x}{k}}^x (f'_x)$$

By using Lemma 3.8, we can write

$$J_{2,n,x} \leq J_{2,n,x}^{(1)} + J_{2,n,x}^{(2)}$$

where

$$J_{2,n,x}^{(1)} = \left| \int_x^{2x} \left( \int_x^t f'_x(u) du \right) d_t (1 - \beta_n(x, t)) \right|$$

and

$$J_{2,n,x}^{(2)} = \left| \int_{2x}^\infty \left( \int_x^t f'_x(u) du \right) K_n^{(\alpha)}(x, t) dt \right|.$$

Applying integration by parts as well as using Lemma 3.8, (22),  $1 - \beta_n(x, t) \leq 1$  and putting  $t = x + \frac{x}{u}$

successively,

$$\begin{aligned}
 J_{2,n,x}^{(1)} &= \left| \int_x^{2x} f_x'(u) du (1 - \beta_n(x, 2x)) - \int_x^{2x} f_x'(t) (1 - \beta_n(x, t)) dt \right| \\
 &\leq \left| \int_x^{2x} (f'(u) - f'(x+)) du \right| |1 - \beta_n(x, 2x)| + \int_x^{2x} |f_x'(t)| |1 - \beta_n(x, t)| dt \\
 &\leq \frac{K_1(1+x)^2}{(n+p-\lambda)x^2} |f(2x) - f(x) - xf'(x+)| \\
 &\quad + \int_x^{x+\frac{x}{\sqrt{n}}} |f_x'(t)| |1 - \beta_n(x, t)| dt + \int_{x+\frac{x}{\sqrt{n}}}^{2x} |f_x'(t)| |1 - \beta_n(x, t)| dt \\
 &\leq \frac{K_1(1+x)^2}{(n+p-\lambda)x^2} |f(2x) - f(x) - xf'(x+)| \\
 &\quad + \frac{K_1(1+x)^2}{(n+p-\lambda)} \int_{x+\frac{x}{\sqrt{n}}}^{2x} \frac{\nabla_x^t(f_x')}{(t-x)^2} dt + \int_x^{x+\frac{x}{\sqrt{n}}} \nabla_x^t(f_x') dt \\
 &\leq \frac{K_1(1+x)^2}{(n+p-\lambda)x^2} |f(2x) - f(x) - xf'(x+)| \\
 &\quad + \frac{K_1(1+x)^2}{(n+p-\lambda)} \int_{x+\frac{x}{\sqrt{n}}}^{2x} \frac{\nabla_x^t(f_x')}{(t-x)^2} dt + \frac{x}{\sqrt{n}} \nabla_x^{x+\frac{x}{\sqrt{n}}}(f_x') \\
 &\leq \frac{K_1(1+x)^2}{(n+p-\lambda)x^2} |f(2x) - f(x) - xf'(x+)| \\
 &\quad + \frac{K_1(1+x)^2}{(n+p-\lambda)x} \sum_{k=1}^{[\sqrt{n}]} \nabla_x^{x+\frac{x}{k}}(f_x') + \frac{x}{\sqrt{n}} \nabla_x^{x+\frac{x}{\sqrt{n}}}(f_x').
 \end{aligned}$$

Finally, Remark 3.7 implies

$$\begin{aligned}
 J_{2,n,x}^{(2)} &= \left| \int_{2x}^{\infty} \left( \int_x^t (f'(u) - f'(x+)) du \right) K_n^{(\alpha)}(x, t) dt \right| \\
 &\leq \int_{2x}^{\infty} |f(t) - f(x)| K_n^{(\alpha)}(x, t) dt + \int_{2x}^{\infty} |t-x| f'(x+) K_n^{(\alpha)}(x, t) dt \\
 &\leq M \int_{2x}^{\infty} t^\gamma K_n^{(\alpha)}(x, t) dt + |f(x)| \int_{2x}^{\infty} K_n^{(\alpha)}(x, t) dt \\
 &\quad + \sqrt{\frac{K_1}{n+p-\lambda}} (1+x) f'(x+).
 \end{aligned}$$

As it is obvious that  $t \leq 2(t-x)$  and  $x \leq t-x$  when  $t \geq 2x$  therefore applying Holder's inequality,

$$\begin{aligned}
 J_{2,n,x}^{(2)} &\leq M2^\gamma \left( \int_0^{\infty} (t-x)^{2r} K_n^{(\alpha)}(x, t) dt \right)^{\frac{\gamma}{2r}} + \frac{K_1 |f(x)|}{n+p-\lambda} (1+x)^2 \\
 &\quad + \sqrt{\frac{K}{n+p-\lambda}} (1+x) f'(x+). \\
 &= M(\gamma, r, x) + \frac{K_1 |f(x)|}{(n+p-\lambda)} (1+x)^2 + \sqrt{\frac{K_1}{n+p-\lambda}} (1+x) f'(x+).
 \end{aligned}$$

Estimates of  $J_{2,n,x}^{(1)}$  and  $J_{2,n,x}^{(2)}$  gives

$$\begin{aligned} J_{2,n,x} &\leq \frac{K_1(1+x)^2}{(n+p-\lambda)x^2} |f(2x) - f(x) - xf'(x+)| \\ &\quad + \frac{K_1(1+x)^2}{(n+p-\lambda)x} \sum_{k=1}^{[\sqrt{n}]} \sqrt{x+\frac{x}{k}} (f'_x) + \frac{x}{\sqrt{n}} \sqrt{x+\frac{x}{\sqrt{n}}} (f'_x) \\ &\quad + M(\gamma, r, x) + \frac{K_1 |f(x)|}{(n+p-\lambda)} (1+x)^2 + \sqrt{\frac{K_1}{n+p-\lambda}} (1+x) f'(x+). \end{aligned}$$

Using  $J_{1,n,x}$  and  $J_{2,n,x}$  in (26), we get the required result.  $\square$

## References

- [1] U. Abel, V. Gupta, M. Ivan, *The complete asymptotic expansion for Baskakov-Szász durrmeyer operators*, Ann. Tiberiu Popoviciu Itinerant Semin. Funct. Equ. Approx. Convexity, **1** (2003) 3–15.
- [2] P. N. Agrawal, V. Gupta, A. S. Kumar, A. Kajla, *Generalized Baskakov-Szász type operators*, Appl. Math. Comput., **236** (2014) 311–324.
- [3] N. Deo, M. Dhamija, *Generalized positive linear operator based on PED and IPED*, Communicated.
- [4] N. Deo, N. Bhardwaj, *Some approximation results for Durrmeyer operators*, Appl. Math. Comput., **217** (2011) 5531–5536.
- [5] N. Deo, N. M. Dhamija, D. Miclăuş, *Stancu-Kantorovich operators based on inverse Pólya-Eggenberger distribution*, Appl. Math. Comput., **273** (2016) 281–289.
- [6] R. A. DeVore, G. G. Lorentz, *Constructive Approximation*, Springer, Berlin, 1993.
- [7] A. D. Gadjiev, *The convergence problem for a sequence of positive linear operators on unbounded sets and theorems analogous to that of P P Korovkin*, English translated, Sov. Math. Dokl., **15** (1974), 5.
- [8] A. D. Gadjiev, *Theorems of the type of P P Korovkin type theorems*, Mat. Zametki, **20(5)** (1976) 781–786.
- [9] H. H. Gonska, P. Pitul, I. Raşa, *On differences of positive linear operators*, Carpathian J. Math., **22**(2006), No. 1-2, 65–78.
- [10] V. Gupta, G. C. Greubel, *Moment Estimations of new Szász-Mirakyan-Durrmeyer operators*, arXiv:1410.3371v3[math.CA].
- [11] V. Gupta, T. M. Rassias, *Lupaş-Durrmeyer operators based on Polya distribution*, Banach J. Math. Anal., **8(2)**(2014) 145–155.
- [12] N. Ispir, *Rate of convergence of generalized rational type Baskakov operators*, Math. Comput. Modelling, **46**(2007) 625–631.
- [13] H. S. Jung, N. Deo, M. Dhamija, *Pointwise approximation by Bernstein type operators in mobile interval*, Appl. Math. Comput., **214(1)**(2014) 683–694.
- [14] L. Lupaş, A. Lupaş, *Polynomials of binomial type and approximation operators*, Studia Univ. Babeş-Bolyai, Mathematica, **32(4)**(1987) 61–69.
- [15] M. A. Özarslan, H. Aktuglu, *Local approximation properties for certain King type operators*, Filomat, **27(1)**(2013) 173–181.
- [16] Q. Razi, *Approximation of a function by Kantorovich type operators*, Mat. Vesnic., **41**(1989) 183–192.
- [17] H. M. Srivastava, V. Gupta, *Rate of convergence for the Bézier variant of the Bleimann-Butzer-Hahn operators*, Appl. Math. Lett., **18(8)**(2005) 849–857.
- [18] H. M. Srivastava, V. Gupta, *A certain family of summation integral type operators*, Math. and Comput. Modelling, **37**(2003) 1307–1315.
- [19] I. Yüksel, N. Ispir, *Weighted approximation by a certain family of summation integral-type operators*, Comput. Math. Appl., **52(10-11)**(2006) 1463–1470.
- [20] X. M. Zeng, *On the rate of convergence of the generalized Szász type operators for functions of bounded variation*, J. Math. Anal. Appl., **226**(1998) 309–325.